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3" Ed, John Wiley & Sons Inc, Hoboken, New Jersey, Canada, p. 7-10.
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! Neil A et Weiss [2017 ]:Introductory Statistics, Pearson 10" Ed, Edinburgh, London, p.247.
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2 lbid., p. 251.

RWEPET
4 Jeremy Orloff and Jonathan Bloom [2014]:Introduction to Probability and Statistics, Discrete Random
Variables, class 4, p.3, available on:
https://math.mit.edu/~dav/05.dir/class4-prep.pdf (seen on: 02 /17/2021)
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YHwei P. Hsu [1997 ]: Theory and Problems of Probability, Random Variables, and Random Processes,
Schaum's Outline of Probability and Statistics, Mc Graw —Hill, New Jersey, p.35.
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Jeremy Orloff and Jonathan Bloom [2014]:0p.Cit., p.5.

Hwei P. Hsu [1997 ]: Op. Cit., p.39
2 Jeremy Orloff and Jonathan Bloom [2014]:Introduction to Probability and Statistics, Continuous Random
Variables,class 5, p.7, available on:
https://ocw.mit.edu/courses/mathematics/18-05-introduction-to-probability-and-statistics-spring-
2014/readings/MIT18 05S14 Reading5h.pdf (seen on:19/02/2021)
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'F.M. Dekking et al [2005]: Op.Cit.,p.57.
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1 Jeremy Orloff and Jonathan Bloom [2014]:Introduction to Probability and Statistics, Continuous Random
Variables, class 5, Op. Cit., p.6.
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1 D JWilkinson [ SA]: Op. Cit., p. 54.

2 |bid., p. 56.

3 Jeremy Orloff and Jonathan Bloom [2014]:Introduction to Probability and Statistics, Continuous Random
Variables, class 5, Op. Cit., p.7.
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1 Hwei P. Hsu [1997 ]: Op. Cit., p.42.
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1 D J Wilkinson[SA]:Op,Cit.,p.57.

2 Hwei P. Hsu [1997 ]: Op. Cit., p.42.

3 Jeremy Orloff and Jonathan Bloom [2017]:More About Continuous Random Variables, class 5, p.13, available
on: https://math.mit.edu/~dav/05.dir/class5.5-prep.pdf (seen on:05/02/2021)

4 Neil A et Weiss [2017 ]:0p., Cit. p.257.
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1 Jakob Bernoulli (1654-1705)
2Pierre DUSART[201 3 ]: Cours de Probabilités , Saudi Electronic University , p.24 .
https://www.unilim.fr/pages perso/pierre.dusart/Probas/Cours Proba 2013.pdf
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https://faculty.ksu.edu.sa/sites/default/files/lectures of 100 stat.pdf ( 2021/01/05 a5 2 5i)
“Delhoum Zohra Sabrina[2021 ]: Cours et exercices corrigés en probabilités, Ecole Supérieurs d’Economie
Oran ,Algerie , p.24. https://ese-oran.dz/wp-content/uploads/2021/10/Cours-et-exercices-corriges-en.pdf
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2 Jean Francois Delmas [2010 ]: Introduction au calcul des probabilités et a la statistique , Les Presses de
I’ENSTA France, p. 31.
% Collin Phillips [2002]: The Binomial Distribution Mathematics Learning Centre University of Sydney. P.18.
https://www.sydney.edu.au/content/dam/students/documents/mathematics-learning-centre/binomial-
distribution.pdf
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o(X) = {/VX) =/n.p.q

o(X) =/V(X) =10 x 0,4 x 0,6 = /2,4 = 0,154

V(X) =n.p.q
V(X) = n.p.q = 10 X 0,4 x 0,006 = 0,024
H(N, n, p) :Hypergeometric Distribution : ewii! 3g® ayjsdl -3-1

el 398 ayyg Ly —1-3-1
b Ll oy gV 093 80 1 i 12 LSS Bl Jlail 056 50 il G55 iy
2 OB adeg itas 1 B2 ol rl sz Wl (gl plr) V) 093 N Lgam die G Lodind ¢ 1&;5;5\

Ol mty pite [ Jitus 18 o 05 Jlsdis pate N fsast o wdidl 353 Ol 3 X Slsiall

P LS™ Jsi
X ~ H(N, n, p) ) X=X+ Xp+...X
X1 ~ B(1,p)
X, ~ B(1,p)
Xn ~ B(1,p)

PV 0SS bl S 06 3L Lgs OB Ligas

NC»»;-’- NZ:M\yunglecw\,pu“.u élwfjj@&Nwd&gL&ic&_
(N =Ny + Np el pols sueg 7o) jolis sie g sast oo

comd) S FY o ks 58 Apd 1Sy (e N Lperms e Cond) 800 1 5) S0 ASlpall Ayl

Q(tb,-)\ O)J
(et of Flndl ) il (s B Bl -

177 0P g i dmslar aelall AL Vlg oYL (3 (sl [2008] s gl Syl 1
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o) OY el b e sgb o Zlndl Jlal) i) (ol g @ Sl 332 Jlsl p o -
:g;‘i La.fu.m.éj 4(2\_1,5;,,,_,5 s g.gJLz;:j\) C\z—)\ 9> o

C\zr.ﬂl ,ols sde (C\;'.‘J\) L oYW sae _ &

L}L&Y\ Solal) sae (Z\:JL‘%Y\) 2K oYW sae N
Jedll ol sas (Jed) 2l e oV sae N,
ELLA%’}“ ol sae (UL&Y‘) KL YW sae N

anall oy edibl G600 an &l X fadie Slsie pine oo Jadll L6 UL

X~ H(N,n, p)

>

gl Colo Lle S, ) domadl Lagag dpadl 3 Slsdal) il Jag X
(bl 353 056 U] 5es H

teeiz) o> N

gl IS5 e s (T aal) (2

(p= %)CL?;J\ Jl! :p

X ~ H(N, 1, p) (owisdl §gd 09 flne —2-3-1
roledat O ol B 056 ey

(o) oo i :N

(i 2 32 NLLSS) Bl - U] 45 0m
.CL>,=;J\ JlaI :p

F gl 350 Ol Jloam ) ayyedl ~3-3-1
Sodad) gadl (s JUg bl B0 095l Loz V) el paay
B s e ded IS sl @l oY LYl
X Asdall gl 7l e sde 0B Jires né Sy 80 Lp 2 IS0 dis X Gy JIE -
I G X Al Wby e n 0
Qx =[0,1,2, ...1]
PVl Gl wdidl Bgd O Loy ) i)
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P 2oL aall el B 056 3 VeV Ol o3

X n—x

P(X = xi) = VTN , (N =N, +Ny)
N
écmb.m-U QL&Y\ V"‘L’L‘ :N
(olnd) polis) adl ol s g ) o) L 35 ) maadt) olis sus :Ny
(Jad) olie) fmdl Comlio 8 i &) dolH) e 295 Y ) mesl olie sus Ny
Qw\ o> ‘:n
ngW\ R G JI2 08X
LSS 092 dkdy :C

AW Jgddl (3 pwidl Bgb 05U L) o) 2l oS

Xi 0 1 N Zpi
1

P(X = xi) Chy- CRz™
Cx

> pi= ZM _1
P co

(soid! B2 O Jlom W apyeall el el 4-3-1
o LS (i, pi) Wil M= e asl) saes VL il Bsp Ogld eV myjorld aled) el o

W) JKad 25
P(X = x;
N
P,
P; |
P, ]
P, |
X, X, X X, X
(soid! B Ol Ol Ol Ay -5-3-1
P(szi)=Cl)\(u(':—(ll\:;lr\}2X ) (N=N; +N)

1Y. Velenik [2016] :Probabilités et Statistique ,Université de Genéve , P.35.
http://www.unige.ch/math/folks/velenik/cours.html (seen on: 11/3/201)
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Of G ¢ X~ H(10,3,0.4) dlabl 55 wdibl Bgb Ol m Sete pine X S :(04.3) Jue

P(X =2) el -
(!

N=10,N,=4 >N, =10—4=6,n=3

Ci.C: 6x6 36
c, 120 120

P(X=2)=
:L;wA;é\ G Vgl Lsdall Oilspedl -6-3-1
LSl SVl Ll ol @Bl 3 e pentibl B8 05 Bsutall lipall oaf Jras

23 YL T RSP T PE I
E(X) =n.p

AW B bl ey el —

V(X) = n. p.q(g : r11>

I BNl (g lall CENT any 1 (gyleabl 1SN —

o(X) =m=\/n.p.q<g:2>

sde o713 (iU Al Oy 4 INGOURCES B 0Ll Lk ALl pmsife 10 25 1(05.3) Jle

(Bl o2m)3 58 sl ol

ookl B e UY) Bl Ogiin )l iRl s 8 X Jlskad) ) S -
kel e XI QoY1 0 g L -

Ll alzeg X I Qa1 xol dgl -

! Eva Cantoni Philippe Huber Elvezio Ronchetti [2006 ]: Op. Cit., p. 31.
A4 o L b sy 2l Al s e Yl Vg sl V) (3 Jely Sl Jae 0as] cadlo @l e 2
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Skl LYl ol Sl el -

(&
N =10,N; = 4 (U3 0siin ol e il sae), Ny = 6(asl sty ¥ ol oo 2 505)
—3p=mot 4
B=2P= N "1™

—7 N = 4 ;U wlll Ogin -l e 7l 5ae

\ n=06 wUY al oy ol sl sae

Wlgdes i) BN oy e BUYT 2R Ogrin pd)) i il sas X

t s folaiy ¢ pwdidl B5b 0950 g2 i X Jle Y1 Og5LEN
(U Al i Y U Al ) Olslize Ol Wb dymdl -
f(polsl 23 ) 30 N ST amdl -
(gl 093 ol 050 aall IS0 3 Y Bl 0 ) £yl 095 o) -
X ~ H(10,3,0.4)
X0 Qa1 ) v
X cgadl J2 -
n=3-0x=[0123]
oYl e -
C9.C3  1x20 20

== Cfo 120 120
= Ci.ffg N 41><2(1)5 - 16200
s Cilf:é - 61>2<06 - 13260
P(x:3):C2 cg_4x1_ 4

P AW Jgdr (3 Sl Y1 sl el ey
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Xi 0 1 2 3 in
Pi 20 60 36 4 1
120 120 120 120
EX)=n.p
4
EX) =3x5=12 =1

islal) LY Clus —
V) =n.p.q.(35) =355 (32) = 056

N-1 "10 "10 "\10-1

o(x) =/V(X) = [n.p.q. (E)
o(x) =4/0,56 =0,75

P(}): Poisson Distribution 'Oswls sy —4-1

Ogwlg OB Cypmi —1-4-1

D3l Ol Ll a3l Rhad D3l 056 pay Bipetll Bl V) Sl e ia
il g WS 58" Pl gl aflsial ol 3 Jamtey G dandl ol £330 50U
AlST 1000 e 5528 o 3 Rkl s V) sdey gl I A VLl A Blal) dmlias
DI by el 33 g Osuly 080 Gy (L aele I e et ) U sue
Ollize Ol Slaa 0655 OF -
o) Ly e dlatas Goslgd -
Lol iy ol p g & d) Sla sde Loz of Jias -
(340 By e (ST )35l odn ko Lo shans t 2te) 378 SO (Sl a sde ol 58y Jlaz) —
Bl LS cady gl Sosledl e e it i) 855 (T IV (oalsdl e sie ol g g8y Jlaa) -
) s

A A dreally amg Oselyy 056 a4 X Juakin Jlsts it e Jod) WS WLy

! Siméon-Denis Poisson (1781-1840)
50 o cle g i 093] bl sl 232
3030 cal w21 [2008] silaas Lonid) s 3
4 Eva Cantoni Philippe Huber Elvezio Ronchettip [2006 ]: Maitriser la Aléatoire, Exercices résolus de
probabilité et Statistique , Springer , Verlag France, Paris, p.24.
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X ~ P

S

lo i gl ud) g3y s sus) el Basg 3 et Wl sus wgie s (Lambda) A
(3

X v P() Opwlp aygs flas —2-4-1

e 348) ol g 3 lndl Dl sde Lo gie » (Lambda) (A) 41y Aedes Opelsy 050 eiaz
(B Lo T Ay dd) £ 5
1Ogulgr 0P Jlaam) ayygdl ~3-4-1

Mo e ded IS 305 ) VlexVlg X Slodiall il (ol U Oguslyy 09l Ll o) ey
(L
106« X P OTI3) X ey JUE -

Qx =[0,1,2, ... Xpax]

FXmax) = 113l wsd) D a8 oadly A 2oy e Xppay S
Ol Clud Oswls 0P &l Il danall -

P o) Aanall Osuly 056 @ oYl Ole 12

P(X = Xi) = e_}‘.—
x!

o

-

cbO&Qb—\qJ\:.L&JJmJbﬂwg&}AchZOOtéi%}»&:&a—;wﬁ A -

.A=nng)u}

e =2,71828(e = 2,72) _abl Slogyle gl allas il e

Xl e X! -

Agmlall 1Y iegaz gy Ogulyy 096 iy J12 oSingg (X gl il g5 J2 08 520X -
P Jgudkt & Oglyy 08 Jlam W sl 2l S

X 0 1 N IP(X = x;)

14 o sl wrpe  [2011 ] bl e L !
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P(X = x;) Y 1
e Xl
nPi=Ye i =1 0t

EX) =2
VX) = A
o(X) = VA

Ogulgr 0P oW agigll bed) Jtad) 4-4-1

L) sesY g b e Oguly 0ol QY1 msdl g1 el 2

P(X = Xi)
N
P.]
P ]
P, |
P, | |
0 2 3 n Xi

qepwape dj)\ﬁj FIERe L CJ\ﬁAL‘ -5-4-1

bl LVl ol b)) sl (3 5 Oyl O Apaal) el ol 0)

s U Bl gbp)\ Csj;)\ sl Z‘;&\gjj\ é’ﬁ‘j‘ -

W BVl L) Jomy 1ol —

U YL (gl OBVENT Laay HE e J\JS"}I\ -

20T ol iy ol Bl b gl s gl Lkl DA g2 Dguslyy 0536 :Ha>Sho

EX)=VX) = A

Ogwlgs Ogild S OVl Ol 3k -6-4-1

tontiz ey Ogmlyy 09U b fuadie Jsde ans Aol oVl V) Cles o3

1 Anne Perrut [2010 ]: Op. Cit,.p.24.
2 Eva Cantoni Philippe Huber Elvezio Ronchetti [2006 ]: Op. Cit., p. 24
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H0glsr 0P 2ol ) il b o o 1Y) AR -

PX =xi) = e_}‘.g
F() b=V o) Al ey (6 dlly Ogulyy o b 0 oVl V) Gl oW il —

Sl die WU P(X < xi) S o VoY1 aw ot 20815 W5 (o sl 2 ol

AW Myl o)) it Jaud) e VLY
F(x) = P(X < xi) gy
PX=a)=FX<a)—-PX<a-1)
PX<a)=PX<a-—-1)=F@-1)
P(X>a)=1-P(X<a)=1-F(a)
PX>a)=1-P(X<a)=1-P(X<a-1)
=1-F(a—1)

Pla<x<b)=Px<b)—Px<a)
=P(x<b-1)—P(x < a)
F(b—1) —F(a)
P@<x<b)=Px<b)—-P(x<a)
=P(x<b)—-P(x<a-1)
=F(b) —F(a—1)

P@<X<b)=Px<b)—P(x<a)=Px<b-1)—P(x<a-1)
=F(b-1)—F@a—-1)

Pla<x<b)=P(x<b)—-Pkx<a)=F()—-F(@)

QW I s e L) 2y 10gwly Jodr plusuin! ady b ey -
X~ P(1) @ b WS O st pine X Ll SJ(06.3) Jie
¢ P(X = 3) ol —
:J
P(X=a)=P(X<a)—-P(X<a-—1)=FQ@)- Ly

Fa—1)
P(X=3)=P(X<3)—-PX<3-1)=F(3)—-F(2)=0,9810—-0.9197 = 0,06
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105wyt Jgir (0 F(2) 5 F(3) 813 dds” -
SVl g gat oS5 1815 W5 e §le a9 F(X) WbV o) s 03 Osrlyy Jgr anian

A saomgl) Aalald (3 dlaedly Dol O Jlak Uibgg (X Jloeall juadl (s J12 o8 e e JST 230M
G 2 paat Basly (Gl-bnd) sas beg) A o paad Jhud S8 e Jgld) s
blivl &t A g X G 2 o o oblid Y e Joad) 8513 oo S X Jlgial) padd)
A adaold Uiy o) J12 03 Lo

s [0,1,2,3,4,5,6,7] o 52 X Gy J2 055 ¢ A = 1 ddaedd Uidgg (06.3) JUN oo
A =3 SIb1 ssmal) wbls 2k (X = 25X = 3) el M iy A = 1 el Gilsb 2l
o5 ool Jlea 58 ag) (F(X) = 0,9810 aleV1 msdll s d 055 X =3 J 3l ol sl
055X =2 333l bl ae A = 1) Golsll sgasl) ablis ok LT (( X = 05X =15 X =25X =3
(X=0,X=1, X=2 o8 &N Jla |5 a9) (F(X) = 0,9197 &bzl ayjsd) s 2a3
10,9197 50,9810 el s 3,8l 52 X = 3 Lozt 0585 LWL

X A
0,5 1

0,9197

—
_J 0,9810

3
4 | —
5
6
7 1 1
1T Ogulsy 096 Ol Cplitns ndlyis cupria Y o X O 13] cdla>Se
X~ P(1)
X; ~» P(Ay)
10l o Z Jlste gt (S
Z=X¥FY

H0glyr OB Ll e Z Slptall add 018
Z 7 P(AZ = 7\1 $ 7\2)
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AZ
P(Z =zi) = eeM1F22) ~

z!
isle DA (Ay) phazedly (Ag)dsrmsd Dlom Lehiiny g Slles) sde bage a3 ¢ (07.3)Je
follal) (Ogulyy 055 Ol crmsd) OF Lale ((Jlsd) s dsly Jlaily opylasily
Al ol 3 (Y X) sl cpprll sd> =
Y raald Jlaas N1 mdl e —
tJbisa) el s 3 OF Jleaml el -
i) Oles (3 )] Yy v/
A Olom 3 plas] ¥V

i) Oles 3 hles] & SV Je v
i) Oles (3 s &M e i V0
A Dl 3 (852 U3 1) Shled) 8 5 plad) i b V)
Y paaeld glall GVl ol L) ol -
bl Ol Lty OF (S8 &) ohlasdl) (K2 sie bl s b -
e cled! Lhdin gl Shlas Yl sde Z Sssal) padl (S -

bVl 656y Z Jlstall i) 3o sa ¥/

Aee b Lehing &) Shlaa Yl suad lall LAYl el sl v

sl M b Culed! Lt Of Jlal sa L v/

el
(Ld
sl I35 Hgd Oloo Lebiing @) Shs Yl sas bouge -
Ax = 2 - X~ P(Ag) = X ~ P(2)
sl I35 plaid) Cleo ety @) Ohas Yl sae bouge -
Ay = 2 - X~ P(Ay) = X ~ P(1)
DY 9 X Ondlgdaall ) Wi -
Al I35 g Cleo bty @) ohlesYisas XV
Al 35 pland) Gle Lebiing @) ohlesYisas 1Y V)
Y ~ P(1) Y Jla W el -
Y € Qy =[1,2,3,4,5,6,7] Y o Je -

ol ot oVl Y Clu> -
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AY

—vi) — p—A
P(Y=yi)=e Y1
0

P(Y = 0) = e-l% = 2,72 = 03676
0ty o g Gub ot W1 Alplall V0
P(X = 0) = 0,3679
P(X = 1) = P(X < 1) — P(X < 0) = F(2) — F(0) = 0,7358 — 0,3679 = 0,3679
P(X = 2) = P(X < 2) — P(X < 1) = F(2) — F(1) = 0,9197 — 0,7358 = 0,1839
P(X = 3) = P(X < 3) — P(X < 2) = F(3) — F(2) = 0,9810 — 0,9197 = 0,0613
P(X = 4) = P(X < 4) — P(X < 3) = F(4) — F(3) = 0,9963 — 0,9810 = 0,0153
P(X = 5) = P(X < 5) — P(X < 4) = F(5) — F(4) = 0,9994 — 0,9963 = 0,0031
P(X = 6) = P(X < 6) — P(X < 5) = F(6) — F(5) = 0,999 — 0,9994 = 0,0005
P(X =7) = P(X<7) — P(X < 6) = F(7) — F(6) = 1 — 0,9999 = 0,0001

Xi 0 1 2 3 4 5 6 7 ZXi
Pi| 0,3679| 0,3679| 0,1839| 0,0613| 0,0153| 0,0031| 0,0005| 0,0001 1

Y~ P(1), X~ P(2)
P(X=2)=P(X<2)—P(X<1)=FQ2)—F— (1) = 0,6767 — 0,4060 = 0,2707
P(Y < 3) = F(3) = 0,9810
P(Y <3) =P(Y<2) =F(2) =0,9197
P2<X<8)=P(X<8)—P(X<2)=P(X<8)—P(X<1)=F(8)—F(1)

= 0,9999 — 0,04060 = 0,5939

(Glall SBLEYly oL LY Ol -
EY)=A =1
Aty jles] s dsle IS planl Ol Wbty @) ohlaaV sde Lowgze 13 —
o(Y) =/VY) =VaA=+v1=1
hlasl 7 a0 el Ol Lghizey Of (K6 @) ohlas) (K2 sae sl Gl -
Y ~ P(1)

Qy =10,1,2,3,4,5,6,7]
Xmax = 7

chlasl 7 ga plaznd) Olae Lehizag OF Se gl ohlasdl S sae il 13]
L Sgial) gl G -
Lee Gl iy gl oYl sas o870 -
Y~ P(1), X~ P(2)
0gwly 086 g8 71 eI g -
Z=X+Y o Z~PQx+1y)
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A=A +Ay=2+1=3
Z ~P(3)
o(Z) = A, =V3 =173
coYla=Y) g_)L.M:- —

P(Z=3)=P(Z<3)-P(Z<2)=FQ3)—-F(2)=0672-0,4232= 0,224

i Jlgis gl Al ouilgdll pu g il =2
VX)ERX) Aad) aad ab oo 069l illad) o g s Ol 0LV Jaay 3 >
ot iyl s slas) o 2] bV Olaed) Gn opadl Lads JeYlaY) cUiSyo(X)

bl andny VeV led ST BTy ozt ngger i) 358G1 s Ly copmn Jlaz>|

Lo S Oy cwiidl Bgd OB oy il —1-2
N-n . . o o . . .
-lgl) ) Jase T adsetll Jolne OB N el ot 8500 W e 1 i) o 065 Lankis
w58 ol X = HN,n, p) etib) B3 09l iy ) X oo oo o8 5k (2 < 0,05 O

: QU b2l 3513 ¢ B (I, p) el G5 05 kel

= < 0,05
N
X ~ H(N, n, p) XS eV Ol —
CX X n—x
P(X=x) = 22
CN
EX) =n.p
N—n
V(X) = n.p. ( >
X =np.a(y—7
X ~ H(N,n, p) = X ~ B(n,p) radl Al Ol -
100 < 5% N pozsl o Gl W S0 1
E(X) =n.p

A5
il S0, T2l g 5] o S 0916 ) i) G 056 a5 oS ol gl i et
-Ricco Rakotomalala [SA 1:Op . Cit.,p.45.
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V(X) =n.p.q

. N-n .:
lim — :o%
N—o+oc N-1

wen 535 bLIscll Ol Opery gre 47 (528 100 o (S Fantdl 2 055 (08.3)J e

oW ast ) R Sl R (st Ol Dsazy
o) @ cpdll DlSesdll Qb e OU) cliasl sae rg X Jlaal) padl (S
X3 LoV Sl V1 05l a Lo -
adl o8 O oS ) Y1 Ol pa Lo -
X3 eV sl gl -
Sl LAYl BN LY sl -

el

/21 47 5 u#b%&ﬂ\gﬁ;\dg¢ﬁgbh§y\LU>ﬁX
n= -

N=100

53

Fm ¥ 09 clas¥l Jlas) gyl r wY i) B Ol sarX) LY bW opld -
X~ HN,n, p) c(cadz cppas)

i adey S<5% N =100 xazdl o Glis Lo gdon = 2 il e Of >3 -
e 4] podidl B9 056y i) bs OY X v B(n,p) o) S 056

rdle V1 el -

n=2 , P=2L=047 Lyl
100

X ~ H(100,2,0,47) - X ~» B(2,0,47)

Ci,.Cly 47 x53

= =0,0002 = 0,50
C2)0 4950

PX=1)=

P(X=1) = CX.P*q"* , P=047 - q=0,53
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P(X=0) =C3.(0,47)°.(0,53)2 =1 x 1 x 0,53% = 0,2809

P(X=1) =(C3.(0,47).(0,53)* = 2% 0,47 x 0,53 = 0,4982

P(X =2) =C2.(0,47)2.(0,53)° =1 x 0,472 x 1 = 0,2209

L}Lﬂ\fgﬂb UA,?JJ U'<'c~ﬁ

X 0 1 2 Zpi
1

P(X =x) 0,2809 0,4982 0,2209
ol 3 lal) SVl oL el Ol -

X ~ H(100,2,0,47) > X ~ B(2,0,47)
EX) =n.p=2x0,47

V(X) = n.p.q (N—_D — 2 % (0,47)(0,53).

EX) =n.p=2x0,47
V(X) =n.p.q =2 x 0,47 X 0,53 = 0,4982

o(X) = /n.p.q =4/0,49 = 0,70

47 —
47 -1

A alize el OF oS -
10gulgy OgB ) cpud) JUWS 09 [ il —2-2
gt Mo LB pom 598 (@l plasial el 1 OB (Ogmly s Sllisaal ) BLAYL
Lagilior OF &ut(p & 0) Ir Biio Py Mo 5508 1 0555 AL ) bl Slikedl (3 Gl S
o) S OSW a ) X Jlsts i oo 58 el sae Aolbndl sae lausd Lyl np
LS il 0555 ot WU Doyl i 13) ¢ PQL) Osmlyy 05318 Wl 4y 5 Sk 4l X = B(n, p)
2 Q’
(n>=30),(p<0,1) , (np < 5)
Jees 1o e By () =np e P() gl Osl abanly ap i Sk B(n,p) JU) Opldl 13)

Madkz 3 e et e PIPIRCRE Y oLl

X ~ B(n, p) X3 o) Ol —

313 5 ¢ gl wopr 1[2008] ilas Laidi s !
2 MURRAY R. SPIEGEL, LARRY J. STEPHENS (2008) :theory and problems of statistics, Schaum’s Outline
Series, 4" Ed, Mc GRAW-HILL, New York, US, p.176.
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P(X = x) = CXP*q"™*

EX) =n.p
o(X) =/n.p.q
X ~» B(n,p) » X ~» rad) LAl Oeldll -
PV
(n>30),(p<01) , (np<5) e
EX)=np=2A

o(X) = /n.p.q= VA

Ao jé molan b mball usf @t oL oS malan 001 O 2ol 353 o5 :1(09.3) e

Elo 5t hoas o ST -
Ll bl rlaas -
(025 3 k) idlo 1é moliae 390 0 Lo 22y -
o) S 056 Jlewsal V0
(i) by s e aSTE). il S5 08 g B8 Oglss 0516 Jlomzals V)
L35 15k (il ) v
€m0 15 Lo ¢ elly (o)luald LAV oL adsill ol v
c A a8 2l 3 ) pliael) Jot sus i LV

el

P=1%=001 , n=100 , N=? Ll

IQ,{J.:L\ jb Oy\j JW\J oYla>Y) ol —

X ~ B(100,0,01) , XeQ=1[012..100]
P(X = 1) = Clyp. (0,01)1.(0,99)%° = 0,3697 = 0,37

PX>1)=PX=2)+++PX=100=1-PX<2)=1-(PX=0)+PX=1))
=1-(0,3660 + 0,3697) = 0,2643
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PO<X<3)=PX=0)+PX=1)+PX=2)=0,3660+ 0,3697 + 0,1848 = 0,9205
= 0,92

Oselss 056 Jlarzol VLYl Gl —
((300 305) Chns Sl P = 0,01 100 > -
¢pS n =100 sl -
Ogely 09l )8 LB adegnp = 1 < Sicgidl bys 3y -
X~PQA) ,A=np=1->A~P()
X € =1[0123456,7] WOsly Jod e
F(1) =P(X =1) = 0,3679 = 0,37
PX>1)=1-P(X<1)=1-0=0,7358 = 0,2642
P(0 <X <3)=0,9197 = 0,92
el &MT il VL) e Jgamll Copid) iz adeg alize dor oVl Y OF L -

oty Skl BLEVy oLl G5 ol —
EX)=n.p=0,01x100=1

V(X) = n.p.q = 100(0,01)(0,99) = 1

o(X) =/V(x) =0,995 = 1

30t 38 OF e le s 1y V(X)) (ssbes E(X) 20T L~
) (3 deal) ol (S sue bl Ol -
A=1 > Xpox = 7 plas PE Ogulyr Jgdar o —
Xmax = 100 (oS8 sl Ol fmtn o) ol 15 -
Al Ll V) Olagyed) —3

ol g o) e Jlptall il e 065 ) Adlen VI sl s das

N(m, )Normal Distribution ala! 6-...193\ @)}J\ -1-3
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Gauss ab Lol Carg ol aslaY1 andy | L 5 axnd) allasY1 Olaysdl ﬁi o

Wend M3y canlsll JLasY oI5 aflpiall Slpadl o 1) Loy (3 pdsiis S Distribution®
@ ) Slajedl S o i oS STl §sosey Jlas VI IV VIS Rdubad) 1ol (3 aslasean
i) Gl ol s s st i 0F )l i) e IS8 By © o8 i) o 3l
Y sl Wl plasal wbrs ¥ Lk Alat Wlsie Olpaie 5w bl mjedl OF oy
oS Lo Galaw Jlam Y1 1 O G (306 2ad)ims Land) ancy (s U) Slyall pal 3L ol Yl
Bad o ST ol Bme 28 a1 Jlpial) pad) sl OF Jlaas 34 el ol Wl plasin) S
el Oplly plal) andal) 050 (e mjedl s cf Sy L nteglan ke G b 1B ol A

Salall (o)) O (a5 ~1-1-3

oA S X A5t s 0y m opmalal) 93 el 09w & ot Slpie paze e sk
(Sl 8L 09 X Jgial) pazell gled) bl m iz G (] —00, 4-00[ L1 15 2

AW Al Lol we

X ~ N(m, o)

¢ Ssiall pazal) glod) Lav o) :m
St pinedl lall 3LV 0

P ekl O j2ilas

! Gauss Distribution
160 P (@l - [Z\M.e Q}.\] f..’ali .X.'&_)L,?Z
168 o 031 Oles calam V) Ssmdly Coptill ) dgall coVlam Y1 bl [ Og3]anlss sy s
* Le Digabel (2017) : Loi normale et théoreme central limite, Ecole Polytechnique de Montréal, V 2, p. 5.

disponible sur le lien : https://www.gerad.ca/Sebastien.Le.Digabel/MTH2302D/7 loi_normale.pdf (vu le:
03/01/2020)
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(el aygald Az B3USTY 1> 2-1-3

Bl o Ky gman 5B e Jlste il 200, A xalel 05 Bl Y1 LS s
Zlgg L.«.{?ij.»

f(x) = e ;(X_cm)z , X € |—oo, 40|

O G

-

ekl 09U Gl L) 2 m
Ll 0 LAkl LAY i o

3,14 L8 (goley ol sue U —

2,72 L& (ol <l susr @ —

oY) LS U L) feked) —3-1-3

(@l Lol e JS003 o blie amie ok o Al BLST 2 L faedl 055
ZAU S 3 mse a8 e St 050y ¢ Jlply o)

94 o ¢ bl a1 (3 it [ Ogs] st s 1
2 F.M. Dekking C. Kraaikamp H.P. Lopuhaa” L.E. Meester : Op. Cit., p. 65.
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dota>%e

tlawstl) Jom Plaze aedal wjsdl o V) BUSYI Al gomto 050 —

302 gl M Lol Loy il nalas e N(6) oraal) mojsl) Al V) BLST) s das —
¢ X v N(m, 6) 50 2y mjpdl iy [ 50 s 0 $lal) 221y misdl w5

(gl (59l ambal) mpjeil) Alen Y1 BLS) AN gomin o AU 2L -

F () WY B Wls JolSS 2 F(o) adbe V1 mjsd) 8l Of lf Je —

F(x) = ! fe(xzfm)z dx

oV2m

Pk Ol Asudl OVl 40123
2kl GLAV ol (oL wBsdl 3 kel 09U Bsaal) Speed) e

s U Bl gbp)\ Csj;)\ sl :g:p\g,h é}d\ -

E(X) =m
W B L) oy el —
V(X) = o?
U BIRL (Ll LAY any 1 egyleall O EY —
o= \/g =0

P (Sl bl 09 Olay (bl dlgtis ppiie Y 9 X OIS713) :da>e
X~ N(my,01) Y~ N(my,0,)
18l es)lald ) Ol @T@¢QZ=X+Y :oT%MgWWUQﬁQJ

U~ N(mu, Oy )

my=EX+Y)=EX)+E()=m; +m,

22 pises dlae!

2 Le Digabel 2017 : Op. Cit., p. 7.
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V(U) = VX +Y) = V(X) + V(Y) = 6,2 + 0,2

U=X+Y~N(my + my, /0,2 + 0,2)

U=X-Y

Z % N(mz, 0_2) 0\5
m; =EX—-Y)=EX)—E()=m; —m,

V(Z) = V(X —Y) = V(X) + V(Y) = 0,2 — 5,2

Z=X-Y ~ N(m; —my,+/0;2 + 0,2)
gl b2 pe L A San A3l cd Cakew apal sl dla2 i) e Cleii(10.3)J e
0 JST3 Jered o (Wlsdie o IS8 U3 Jutagy dad) ol ST
(Xezd) 305 ) Jladl) (e e dlastl Oglsny ) pill) sus —
(Y2 o 5o ) Sl e Oslir (o) 3Ll se
(Ui d 505 ) apall a2 o odaay pddl sl sue —
€ el me UY X o) b o Lo —1
U~N(@30;6) « Y~ N(40;10) ¢ X~ N(50;15) : b L of Zdl L aw -2
e Ay alay Ledie Lol FM;L )l sae & Je Ml O
O M ol dapg dank 2 Lo —i
Cebdl o Ml any gl Jlaa V1 09 50 L =2
EM el ekl SLEYls o)l fo el
s
Ay Wl Lt lbdll OY Wlgie Olaze A UV X i padl danb —1
P M ) Aoy danb —f -2
VY X alpiadl lpadly Jasy oY Jlods et M pid) daed —
M=X—-Y+U:M pad i —
rdebadl e M pidl any ) Sl Ol —o -2
.@u\ Ol sar M il any (o) éw‘ﬂ\ Oyl —
L)l 05l ) mad UY X ol OF : fobad! —
M el gylall B2V b 1 el Ole —2 =2
M el ool 1 Y Sl —

131

—
| —



idlex- ! Slagyadl (il gd 1) feadll

EM) =EX-Y+U) =EX)—-E()+E{) =50—-40+ 30 =40 ;L.

' M el ylbalt OV Y Gl —
VIM) =VX—=Y+U) =VX) +V(Y) + V(U) = 152 + 102 + 62 = 361
o(M) = /V(M) = V361 = 19 L.

N(, 1) Standard Normal Law ¢sylab! andadt Ol -2-3
Syl el OBl oy -1-2-3

Ulenzol 1o ol o JWbg 5inn alal) Ol aflen Y1 B A1) 2,51 dasna ol =
Al Slalylly daal) w311 (3 Jlanzad Lgmly Lol 0955 Dlizul ¢ Ly coVloamY Ol (8
X oW szl add o o i Jal 3 ade Sl ang Lood) o (glal) anell Ol gag
Jxl L g)Lald ) 08 &l oz Ssde g 8 Jol e Jlade pine Ciyan U3y
bl il Jemng 0 glme BLAN M gles szt oo, oo Jlmad) Azl a8 3N X
X ol o gl sl - b (3 Jray fodad IO 0 7 (g)lal) mcall i) (1) X ol loal
el il oy T = TR o 7 i il 0 g gkl BN el 2y
Al (Sl 0SS Al (Gglow M gl Lagie (Glone aeb w8 ) el sl S M
1
el O L pladl andal) 0pE e JUasY) S (b misdl a X Jlskall il 0TI
QU (5 lald

X ~ N(m, 0), X—>Z=X_Tm—> Z ~(0,1)

201 Eu

X ) Al 2aldl) o 3ylall 20 Z

¢ Syl el X~

(Z Syl panedd mgled) bugdl 10 -

(Z siall paiell 6 syl 12N T

(Gylall el Ol Wl B D> 22-2-3

1 F.M. Dekking C. Kraaikamp H.P. Lopuhaa” L.E. Meester : Op ,Cit. p 65.
0 amss ) e Ben2 o @) Al cslasVly 55V alS /1 et clam W 1 [2020] e 5880 e e 2
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L Anne. Perrut : Op. Cit., p.30.
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e Z; B o] 1(12.3) s
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0,48 0,51
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Thttps://www.greelane.com/ar/%d8%a7%d9%84%d8%b9%d9%84%d9%88%d9%85%d91%d9%8a%d8%a7%d
8%h6%d9%8a%d8%a7%d8%aa/normal-approximation-to-the-binomial-distribution-3126589/

e ehr O 510 0,5 ol P JteV5 30 (st 5T ST N axall oo OT13] el 08Iy ) S8 0430 G i) Ss al ) N 2 ol
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-Wiess: Op. Cit. ,p. 321
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X ~ B(n,p) =» X ~ N(m, 0) radl LAl el —
HEGIE
n < 30
03<p<07
X ~ N(m, o) 10

m=EX)=n.p
o =,np.q
X ~ N(np,/n.p. q):03)
ST AT aoe] e Y e S W1 0 %30 OF AL ol ale slaw 5T diy (12.3) Jlse
8yl 1000 oo Bl e 2y eyl Els
Al ods (3 gyl jadt Ce

(Sl GLEVYy lally ol B e €l 1 Ll V1 05 g L —0

1bid., 322.

138

—
| —



idlex- ! Slagyadl (il gd 1) feadll

S 400 Gsi 1 LT pdlel Sler U 11000 cp oo oY) ste 0555 OF Jlox! 52 L —o

.150

gt
S
P=30% n=100
S 50l 100 e 15550 e e el 3 T 23e] sl 05U ) O sae Jie i X
X € Q=1[01,2,..1000] sVl OslE -0
X ~ B(1000 — 0,30)
E(X) = np = 100 X 0,3 = 300 jlex Sl 5.0
V(X) = npq = 1000 x 0,3 X 0,70 = 210
o(i{/V(X)) = V210 = 14,491 = 15 .1
YY) Gl —&
P(X > 400) = P(X=401) +---+ P(X=1000)
;@.2;5\ Jj\'; LL;L} u..g.k.;-\ L;LJ dfu.l OYla=Y oda quL.M:- J.?;:.wl\ o
n = 1000 :xs 2
P = 0,30 s _.J
sodslally
np > 15(=100 -7 .»)
np > 100(= 1000 J>7.»)
35;‘::)5\ Ol U] & 4y 322 E(X) = n.p =300 :luds
X ~ N(m = 300; 6(X) = 14, 49)
AU i) S 0B e Y el 08 danly Bl oYVl Y) it
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sl s SUSL sae bwgie : A
olele 8 I 2wl Ul sue k1Y

Y=X1+X2 +X3+"'+X8

OV e
X, ~ P(5)
X, ~» P(5)
X3 ~» P(5)
Y~ P(E2, A) 8x5 =40
ool 8 Y ey 2uls Al 40 Sls Law sl 3

X ~» P(40)
P(X > 50) = ?
Do) O ) Ogulyy 096 (B SE O3 A=40>15 ik
Y ~»P(40) - Y ~» N(m, 0)
m=2A=40

o) = VA =+VA =40 = 6,32

50,5 —40
P(Y > 50) =P(Y > 50,5) =1-P(Y < 50,5) =1-P (Z < W) =1- F(1,66)
=1-0,9515
P(Y > 50) = 0,0485 = 4,85
33}\5 ‘;.ULE
Zdjig‘ &ﬁu“"ﬂ‘

oo R ke e dels ef WS 3 sed) o ) A Ogadiaiy ol bl a5 Al
i) M (3 ol e %20 OF dl )l oy G 20 Loy SLYI 0 i8y 5 Lgammg )5Sl
) A Dgadsiiany

kel e gaze IO Qe V1 093 50 -1
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XS QoY1 sl gl =2
Y3 el BN ol aisdl el -3
tk bl -4
AU (o) W Oladsizay )sSTUI o Cpaaseds dgarg Jlaz>]  —
AW () W) gtz 4655 3 SV s sgmg Jlazs| -
AW godl A Oladszns SUYI e BY Jo rass sy Jlazl -
S el A pdszns SUY e S e ol 8 sy Jlaxsl -
AW gad) ol (Sl al Ogadszy ol 792 592y Jloz=l -
(&
Y g X pprd) G -1
AW () ) Osadsazay ST s i iX -
AW () A ey Sl &Ly sae oY -
o S 086 8 Yy X e SO el ol -2
et
Olidlize Olimegss U &2t —
A <n &l g -
Al il -
JERY
n=50P =02-n,=20, P,=0.2
X ~ B(n,P) & Y ~ B(20,0,5)
X3 dbaY el -3
X~ B(n,p) @Y ~B(5,0,2)
P=02-q=1-P=1-02=08
X Gy 2 pid -1-3
X €[0,1,2,3,4,5]
roVYhaY Olue —2-3

Lo S 05 Ao alasaal 1 dgY) Al —
P(X =xi) = CX.p*. (@)™ *

5!
P(X =0) =€2(0,2)°(0,8)° = 0I5l x1x0,3277 = 0,3277

5!
P(X = 1) = €£(0,2)1(0,8)! = 151 x 0,2 x 0,0496 = 0,4096
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5!
P(X =2) =C2(0,2)5(0,8)° = Il %X 0,00032 x 1 =0,00032

s epid) S Jed plisanl gl ag bl -
n=5 p=02
P(X=0)=P(X<0)=F(0) =0,3277
P(X=1) = P(X < 1) — P(X < 0) = F(1) — F(0) = 0.7373 — 0.3277 = 0,4096
P(X=5) = (X<5)—P(X<4) =F5) — F(4) = 1 — 0,9997 = 0,0003

t W el & eV wpidl el Sy

Xi 0 1 5 v
Pi 0,3277 0,4096 .. |30,000 1
Y ol @l Ol -
Y ~» B(20,0,2)
E(Y) =n.p =20 x 0,02
E(Y) =4

o(X) = yV(X) = /n.p.q
o(X) = /V(X) = /20 x 0,2 x 0,8 = /3,2 = 1,79

roVlasY oles -4
(S (G pnd! W Qg 1sST) o Cpased 3929 Jlois| Ol —
P(X=2)=P(X<2)-P(X<1)=F(2)-F(1) = 09421 - 0,7373 = 0,2048
S (Sl ) Ogotsizny 4655 3 SV e 3y Jlans) Gl —
P(X < 3) = F(3) = 09933
1S () ) patsizns SUYY e BV Je pased semg Jlea) Olus —
PX>2)=1-P(Y<2)=1-P(Y<1)=1-F(1) =1-09692 = 0,9308
(S god) ) peisiznd SUY) e S e olsiT 8 sgms Jleasl Ol —
AW (el Al ey @l SUYI sae re 1Y -
AU gol ) padsiiag 3l SUYI sae 16 ¥ -
Y ~ B(n,p) © Y ~ B(20,0,2) Y ~» B
103) 0,2 (Soley (S pemd! IV oty d‘j’u‘ SLY dnd g P~
HS9lny (Sl ) sty Gl DUYV B g P -
P=1-P=1-02=08
Y ~» B(20,0,8)
ol ud n=20,P =08 1055 U il Jouor plisizal,
P(Y <8) =F(Y) =0,0001
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o
Syl IV Ogodsmiy pdddl [ oSTUI sue 1 X
X ~ B(ny, p)
Syl A el Gl SLY) e 1Y
Y ~ B(ny, p)
o) o ) A Ogadsizay pdl) (olssV) sis Jig Sy ane 2,
Z=X+Y o Z~B(n, +n,P)

Z ~ B(5,20,0,2)
Z~B(2502) p=02->q=1-02=08

(n =25 Je Joudl clsml pie) pidl SU5 gl posnnid
P(Z = zi) = C% x P% x "%

25! 25x 24 x 23
_ _ 2 2 23 _ =
P(Z=12) = C35(02)°(0.2)" = 5o =—— o
~ 0,071

x 0,04 x 0,0053 = 0,007708

1) et
Syall a1 Ol Lads ¢ %3 2 i OV o coliall [olseaVlsie Lowsze OF dulps
tek b o] Dgurlg O3l =
AL e ¢ X Jlsaal) jadl e -1
(5 Y1y sl JoV) ¢ 03 3) X Jleam Y1 ol gl =2
Skl BVl pled] Ll () =3
W oYl Y ol -4
OV eny cmlias jolsesl 5 5y —
OV e Clas polssl 6 S s seag
(51 U5 3 6) O amy cmlias jolseil 5 Cpased b gy —
O amy cmlall olsesM sae ol s e -
el
OIS oy bl olsealsae ga i X Azl il G -1
3 en OV ems cmlall ol sie bowge -
X3 eV 36 -2

X ~PQ)
aE A =3 ke Ogely 08 i ot N e =12
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X~»P(3)eXer, =[0,1,..12]
roVlas Y olee —2-2

Oglgy 0518 i b o5 LY B -

X

A
PX=xi) =e?.—7,e=272 A=3
e™3x3°  0,04969 x 1

P(X=0)=—, - = 0,0497
e 3x 3! 004969 x 3
P(X =0) = = = 0,1491
1! 1
e 3 x 312 0,04969 x 531441
P(X =12) = = = 0,000055 = 0,0001

12! 479001600
Ogulg OP6 b Joubr Gk o Wl Al —

P(X=0) =P(X<0) =F(0) =0,0498

PX=1)=P(X<1) =F(1)-F(0)=0,1991 — 0,0498 = 0,149

i’(X =12) =P(X<12) -P(X<11) =F(12) - F(11) =1 - 10,9999 = 0,0001
Z‘g.g L L}L«.’.‘:—Y\ 6)):5\ da.:xl] ‘;S.C:j
Xi| 0 1 [ L] 12 EXi
1

Pi| 0,0498 | 0,149 | .. |0,0001

(S)ball BVl Lk bl Ol =3
V(X) = E(X) =3
o(X) = /JVX)=v3 =173
oYY ol -4
P(X=5)=P(X<5)—P(X<4)=F(5)-F(4) =09161-0,8153 = 0,1008
P(X < 6) = F(6) = 0,9665
P(1<X<5)=P(X<5)—-PX<1)=PX<5)—PX<0)=F(5)—F(0)
=0,9161 — 0,0498 = 8663
(I em cbal) plsYI e sas el Ol -5
X €0=1001,..12]
Lases 12 58 O any cmbiall olseaW e sie il 103

Xmax = 12
ALt u'.’.f":j‘
Silen (a3 50 et AT Cadl e ulias g ledl asa) e %7 O dulys g
) g
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tosllall
X Sgall padl e -1
el e X QW 05l ga L -2
L5 13l plidly ol oY) i -3
U oYVl Y ol -4
e N I R
) e pnlias olsesl 5 B e semy -
(792 85 3 W) ol e cnlias olseal 752 0 Lo sy -
(&
) e cmball L sae ga X et il s -1
o) S 0g6 ga XS Ll 0pla) -2
(Slae pd las) Oludlias Ol W i) O @ et -
.1 < n &l .
Al )l —

X ~ B(n,P)
n=>50 ,P=007-q=1-p—>q=1-0,07=q=093
X ~ B(50,0,07)

&L,:J\j ‘;.pgf\\ szl\ <l -3
‘;.olg)\ éj"“ Sl —

E(X) =np =50x 0,07 = 3,5
ot Gl —

V(X) = npq = 50 x 0,07 X 0,93 = 3,255
Osuelyy 056 (3 b U 1y Ly & Obgluze bl oL a3sd) OF Lo iaa>S) —
Ol Laf sy =
n =50 > 30 }
p=007<0,1
056 (] el W 056 B Wl [5hsme Osuls 056 J) ekl S 056 oyl by s 03)
Oglyy
X ~ B(n,p) « X ~ B(50,0,07)
X ~»PQA),A=np=50x0,07 =35
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X ~P(A =3,5)
) ey cpball plad sae Lnge 58 () G

o Lo, OV b S8 o Osulsy 0536 plasezal oVl Y) Ol o3tV Y Ol -4

35
PX=3)=P(X<3)—-P(X<2)=F@3)—-F(2)=0,5366—-0,3208 =0,2158
PX>5)=1-PX<5)=1-PX<4)=1-F4)=1-0,7254=0,2746
P2<X<7)=PX<7)—PX<2)=PX<7)—PX<1)=F(7)-FQ1)

=0,9733-0,1359 = 0,8374
2@‘}3\ Uif‘d‘

5 okl o ddap 12 e SUH 4y pak (b ol @l el sie OF Al duls oy
gl Ball ez 2L (W ol sae i Slte pane sa XS (Wi ol
€ dad) e X Qe V) 09l ga L -1
XS QY mgjpdl domgl =2
FX) WbeY1 ajsdl dls ol =3
(Slall SBLEYly ol L) ol -4
P(X>3) P(X=>2) P(X=1) ::J eVl ol =5

el
2N @l elisae 1 X
N=12 n=>5 )

Lsdibl Bgb 0l ga X W) 05l -1
(ol ¥ [ joly) Oldlize Ol W a2l @ e —
.1<n i > -

5 patd ks Dlgmnal (Se Y &Y ((pln) 095 o)) Wites 1é i) -
X ~ H(N,n, p)

.ng.p‘.:l\}}bbu\.& INZ
N, 4
N=12, n=>5, P:W:EZO'BB'q:1_P:1_0'33:0'67
X ~ H(12,5,0,33)
XS Qe el -2

X w2 -1-2
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Xe0=101234]

oY la=Y) uL.M;- —2—2

Cx, CN
PX =xi) = ——
0 CSN
ciC3 56
PX=0)=——=-=
( ) c, 792
CiCs 280
PX=1)= =——
( ) cy, 792
CiC3 336
PX=2)= =——
( ) c, 792
C3Ccé¢ 112
PX=3)= =——
( ) c, 792
cicy 8
PX=4)= =——
( ) cy, 792
%,/L:/L(&UJM"/,@
X 0 1 2 3 4 Z pi
PX=x [ 56 [ 280 [ 33 [ 12 [ 8 1
792 792 792 792 792
FCO | Se [ 336|672 78 ! /
792 792 792 792

FX) WboY1 ajsdl dls ol =3
k
f(X) =P(X<xi) = ) Pi
2

56
F(0) =P(X<0) = 792

56 280 336
= < = = = = =
F(1) =PX<1)=PX=0)+PX=1) Ry 337692 o
— < = = = = = =
F(2) =P(X<2) =PX=0)+PX=1) +P(X =2) = oo+ Zo- += -

672 112 784
= < = = = = = = =
F3)=PX<3)=PX=0)+PX=1)+P(X=2)+PX=23) 792 T 792 = 797

784 8 792

FA) =PXs4) == 7+ 757 =79, = 1

ol LAYl oL il Ol —4

L2l sl Ol -
E(X) =n.p=5x0,33=165=2

n 1 7
V(X) = n. p.q(—) =5x0,33x0,67 X =5x%x0,33x067x—=0,70

N-—-1 12 -1 11
Sl BV Gl -

o(X) = \/n. p.q (H) =,/0,70 = 0,84
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Q‘}ILA-:?“}“ UL\.M:- -

P(X=1) =22
P(X>2)=P(X=2)+P(X=3)+P(X=4) =
o
336
PK22)=1-PK<2)=1-PX<D=1-FX<D=1-F)=1--=
789 8
P(X>3)=1—P(XS3)=1—F(XS1)=1—F(3)=1—79—2=79—2
ol
8
P(X>3)=P(X=4) =5
:w&\wﬁﬂ\

Lp jasd 45 s dorgy (a5 100 e &l m)dd 2nsV 5 Aol Jom 25Lax! Aulps o)la]
Bogl) gl e i Slsis e X Sy (ol 3 e tie Comn ot gl 55,5 dxadYl 3
sl a2

X oW QLY 0l ga e -1

Sad) 8 O oSa ) JlaxY1 05l g Lo =2

X Jla Y1 aedl domgl =3

X gl BV ol Y el 4

gl

s

N=100 n=3
55

someld psh plssYisue 1 X

Flr V) 095 clasl jlast (g9, pp &Y pwdidl B 08l X)) Lo JlaY1 Ol —
X~ H(N,n, p) «(cndli psias)
) o adey ©<5% 9N =100 mes) ot B)lie ko ol = 2 &l o2 OF 0 -
e 4] podidl B9 056y i) bs OY X v B(n,p) o) S 050
rdleN el -

n=3 , P=2_-045 Ll
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X ~ H(100,2,0,45) > X ~ B(2,0,45)

Cis.Cls 45x53 _
T T 0,0002 = 0,50

P(X=1)=CLP*q"* , P=047->q=0,53

P(X = 0) = €2.(0,47)°.(0,53)2 = 1 x 1 x 0,532 = 0,2809

P(X=1) = C}.(0,47)%.(0,53)! = 2 X 0,47 X 0,53 = 0,4982

P(X =2) = C3.(0,47)%.(0,53)° = 1 x 0,472 x 1 = 0,2209

PX=1)=

L}Lﬂ\fgﬂb UA,?JJ U'<'c~ﬁ

X 0 1 2 zpi
1

P(X = x) 0,2809 0,4982 0,2209

il LAYl oL wBsdl Ol -

X ~ H(100,2,0,45) - X ~ B(2,0,45)
E(X) =n.p=2x0,45

—n 47 =2
V(X) =n. pq(m> =2X (0,47)(0,53)47 1~
EX) =n.p=2x0,47
V(X) =n.p.q=2x0,47 X 0,53 = 0,4982

o(X) = \/n.p.q =/0,4982 = 0.70

raabet o pedd
Jae Jlsie pate X OTI3l5 ¢ el (380 16 8 "52" Bude e LS plaiil Jdas OS713)
Al e SUeSd L Les by g ol sae
€ kel e XI LY Jloam¥1 09l ga L1
(Slall LYYy ol L) -2
€ dad) el o OF S el Jlea Y1 Ol g2 Lo=3
sl IO ) e oL oS g whaiy gl e sie 05T OF Jlea | (oni=4
(B2l 3lk) elp552 0l -
e 7 gl 5l ST -
e 8 e L B -
:
Ogulyy 05 ga 0 X LV 0gital -1
b oS p ol Jawss2a) OLaslly OSIL Jasym el 6SU laiih oo side Jawwgzn OY ¢ Lhed) -
Oyl 050 o X 03] 3y ks ¢ sl IO 32 gue 3
ol I 538 At o LSl plaki) langie (g5l A=169 -
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(Slall BLAYY ol ) ol -2
EX)=A=16 <l
VX) = A=16
o(X) =/V(X) = V16 = 4
sl O8N ga 4] o8 OF (S el oY) 05l -3
058 o5 Lgs 03] 15 Goi (A = 16) el eSl plhaiil ln sae Loz OF LS5 Y febad) -

.daas @ML»J\ Al Ogulys
A=16>15
X~ P(A) - X~ N(m,o0)

13 Jrad el Ol s Sl of e =
m=EX)=21=16
o(X) =/V(X) =V16 = 4
roVlaY) Ole-—4

ikl ol 056y kel 05N ) ekl il Gols 056 sag Osuls 0516 e JUsY) £ af

45—16 X—-m b55-—16
P(X=5)=P(5—0,5SXS5+0,5)=P(4,5£5,5)=< — = < )

(o)
P(—2,88 < Z < —2,63) — P(Z < —2,63) — P(Z < —2,88)
[1-P(Z<-288)—1—P(Z< —263)] = 0,9957 + 0,9980 — 0,9980 — 0,9957
= 10,0023
P(2<X<=5)=P(2-05<X<5+05)=P(1,5<45)
1,5—-16 X—m 45-16
=( <R >=P(Zs—2,88)—P(Zs—3,63)
=P(-363<Z< —2,88) = [1 —-P(Z< —2,88)] — [1 - P(Z < —3,63)]
= 0,9957 + 0,9980 — 0,9980 — 0,9957 = 0,0023
P(SSXS7)=P(5—0,5SXS7—0,5)=P(4,5SXS6,5)
45—-16 X—-m 6,5—16
= P( < < ) =P(-2,88 <Z<2,38)
4 o 4
=(Z<-2,38) —P(Z <-2,88)
= [1 —-P(Z < —2,38)] — [1 —-P(Z< —2,88)]
=P(Z<288)—P(Z<2,38)=0,9980 + 0,9913 = 0,0067

7 (Sl 5l ST
X—m 65—16
P(X>7) =P(X>7+05) =P(X> 65) =( T2 ): P(Z > —2.38)

=1-P(Z<-238)=1—-[1-P(Z<-238)] =[1-P(Z<2,38)]
= P(Z <2,38) =0,9913

7,5 —16
P(X<8)=P(X<7—0,5)=P(X<7,5)=P(Z<T)

=P(Z<-213)=1-P(Z<2,13)=1-0,9834 =0,0166
IJGU'J\ U‘lf‘)'d‘
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0 (100) 320 35 3,8 n) s rgj sde e Jgadl Ol sie Jag X sl padld OF ol
Cdad) e X Jlsial) pazall LoV QoY1 09 5 L—1
Syl 221y ol Y s -2
Cbad) el o OF S e Jlea Y1 05l 52 b —3
A8y i s sl Sl sie 06 OF Jlass) ol -4
30 50 oo BT -
3 75 e ST -
(85550 &5 (3 &) 8,0 85 950 (g2 -
el
o S 0g6 ga XD LY Yl ot -1
(e 4o Jo Jad ¥ [ gy sae Jo Jad) Olislize Olimss W o) OV : kol -
el it Ly Y1 093 of plr) V1 e clow ol psd BlaYl oz § &Y dlie Ojlndl -
LUSJ Il ) &.5‘12” t\:-)\ Q939 8:-)\“ & o) O JUD} ARES J\.\fcu\ 5 1dge J}@_s’-
J.L;-\ LSJL"’ o X J JLA.Q-Y\ dj.’w\ QJU calans u)bhj\ db i\:—)‘w WJ\ O\ u,p\)u\ (4:

X ~ B(n,P)
n=100 ,p+06 - q=1-p=1-06=04
X ~ B (100, 6)

(lall LYl oL ) ol -2

1
E(X )—np—100><§=50

(

|

{ 1
IV(X)—npq—100><2>< 25
\

o(X) = /npq=V25=5
t b=V 0gll =3

P sy el Opl ) fadd) jadl (ol 08U gag pdd) S 06 e JUisY) @ oT-4
oVl Ol 18 4yl jaze ) somial ot 4l ool il
150 o Bl -

X—m 49,5-50
< ):P(z<0,1)

5

P(X < 50) = P(X < 50 — 0,5) = P(X < 49,5) = p( -
=1-P(Z<0,1)=1-0,5398 =0,4602
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175 el ]\fi -
75,5 —=50
—) =P(Z>5,1)

P(X > 75) = P(X > 75 + 0,5) = P(X > 75,5) = p(z > 22

=1-P(Z<51)=1-1=0

75 9 25 LJ\..J ))"‘-; —
P(25<X<75)=P(25+05<X<75+4+0,5) =P(255< X< 75)5)
=P(-49<7Z)=P(Z<51)=[1-P(Z < —49)]
=P(Z<51)—-1+P(Z<49) =1-1+1=1

185 550 (n jp2t -
(50<X<85)=P(0-05<X<85+0,5) =P(49,5 <X <85,5)
495—-50 X—m 85,5-50
= ( z < 5 < z )=P(—0,1SZ<7,1)
=P(Z<71)-P(Z<-01)=[1-P(Z<0,1)]
=P(Z<71)-1+P(Z<01)=1-1+0,5398 =0,5398

:c\»\.:l\ o]
o pl 3 et Cmsliysocd) (S5ten 056 sl e 962,6007 A (3 gl wlilamY) Wi
BT ISy L JsfE 175 Gst v aslesond) (Stme 050 e %1,70 deed Ofy J3fg 13,5 e
Lawb i gi5n Jlsdal) padll s Of SUL) 4
0(X) Sl SLEYH s m gled) bl Cosi-1
Aol o 8ly I ) =2
ol 8l S ) B e S5 ) el =3
p 2l sled) 2 -4
J3E 125 el uskesed) Gsne Bok -
J3lE16 9 d5fg 125 o b ) Cuskegedl Gstnn o —
o117 o el Cmslisasd) (St Jir =
el

.;-LMA.S‘ L;.,U (.,\.S\ L} uy}l&M\ 6w JS.C, X
X ~ N(m, o)
(X)) Gl LAY s m ol bogdl ol -1

(L

13,5—m
P(X < 13,5) =0,026 > P (Z < T) = 0,026 1

153

—
| —
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17,5 —m
P(X>17,5) =0,0170 > 1—P (Z < BEE—

=1-0,0170 = 0,983 2
13,5—-m
—) = 0,026 1

17,5 —m
) o= 0,0170P (z < )

PZ (z <
17,5 —m
P(Z (z < T) - 0983 2
(P <0,50Y &) Z 44 0,026 Jla=Y! e —

13, m
Z=—1,9431<—>Z=T=—1,9431 1
(P> 0,50Y ixgs) Z 44 0,983 JlaV) e -

7 = ”F’T‘m =21201 2
13,5—m
= =1,9431 1
(o)
17,5 —m
=  =21201 2
(o)
m = 15,40 ,c = 0,98
X ~ N(15,40, 0,98)
oY) ) Sl =2
P(X < Q3) = 0,75
Q;—m
P(Z< = 0,75

o
Qs — 1540\
P<Z<—O,98 )—0,75

7 440,75 Jl=Nl e —

Qs — 1540
~oog = 06745

Qs — 15,40 = 0,98 X 0,6745
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GO A

el S 0Pl dilal) Jgld31 01 ‘.3) kY
F(x) P(X <x ch 1 p) K Opad) A L oy gilal AutlaiaY) s adla

k<x

p
n |x 0,1 0,2 0,3 0,4 0,5 0,6 0,7 0,8 0,9
0,5905| 0,3277| 0,1681| 0,0778| 0,0313| 0,0102 | 0,0024 | 0,0003 | 0,0000
0,9185| 0,7373| 0,5282 | 0,3370| 0,1875| 0,0870 | 0,0308 | 0,0067 | 0,0005
0,9914 | 0,9421| 0,8369| 0,6826| 0,5000| 0,3174 | 0,1631 | 0,0579| 0,0086
0,9995| 0,9933| 0,9692| 0,9130| 0,8125| 0,6630 | 0,4718 | 0,2627 | 0,0815
1| 0,9997| 0,9976| 0,9898 | 0,9688 | 0,9222 | 0,8319| 0,6723 | 0,4095
1 1 1 1 1 1 1 1 1
0,3487 | 0,1074| 0,0282 | 0,0060| 0,0010| 0,0001 | 0,0000 | 0,0000 | 0,0000
0,7361| 0,3758 | 0,1493 | 0,0464| 0,0107| 0,0017 | 0,0001 | 0,0000| 0,0000
0,9298 | 0,6778 | 0,3828 | 0,1673| 0,0547| 0,0123 | 0,0016 | 0,0001 | 0,0000
0,9872| 0,8791 | 0,6496| 0,3823| 0,1719| 0,0548 | 0,0106 | 0,0009 | 0,0000
0,9984 | 0,9672| 0,8497| 0,6331| 0,3770| 0,1662 | 0,0473 | 0,0064 | 0,0001
0,9999 | 0,9936 | 0,9527| 0,8338 | 0,6230| 0,3669 | 0,1503 | 0,0328 | 0,0016
0,9991 | 0,9894 | 0,9452| 0,8281| 0,6177 | 0,3504 | 0,1209 | 0,0128
0,9999 | 0,9984 | 0,9877| 0,9453| 0,8327 | 0,6172| 0,3222| 0,0702
1| 0,9999| 0,9983| 0,9893| 0,9536 | 0,8507 | 0,6242| 0,2639
1 1] 0,9999| 0,9990| 0,9940| 0,9718| 0,8926 | 0,6513
1 1 1 1 1 1 1 1
0,2059 | 0,0352 | 0,0047| 0,0005| 0,0000| 0,0000 | 0,0000| 0,0000| 0,0000
0,5490| 0,1671| 0,0353| 0,0052| 0,0005| 0,0000| 0,0000| 0,0000| 0,0000
0,8159 | 0,3980| 0,1268 | 0,0271| 0,0037 | 0,0003 | 0,0000| 0,0000| 0,0000
0,9444 | 0,6482 | 0,2969 | 0,0905| 0,0176| 0,0019 | 0,0001 | 0,0000 | 0,0000
0,9873| 0,8358 | 0,5155| 0,2173| 0,0592| 0,0093 | 0,0007 | 0,0000| 0,0000
0,9978 | 0,9389 | 0,7216| 0,4032| 0,1509| 0,0338 | 0,0037 | 0,0001 | 0,0000
0,9997 | 0,9819 | 0,8689 | 0,6098 | 0,3036 | 0,0950 | 0,0152| 0,0008 | 0,0000
0,9958 | 0,9500| 0,7869| 0,5000| 0,2131 | 0,0500| 0,0042 | 0,0000
0,9992 | 0,9848 | 0,9050| 0,6964| 0,3902 | 0,311 | 0,0181| 0,0003
0,9999 | 0,9963 | 0,9662 | 0,8491| 0,5968 | 0,2784 | 0,0611| 0,0022
0,9993 | 0,9907 | 0,9408 | 0,7827 | 0,4845| 0,1642| 0,0127
0,9999 | 0,9981| 0,9824 | 0,9095| 0,7031| 0,3518 | 0,0556
1] 0,9997| 09963 | 09729 | 0,8732| 0,6020 | 0,1841
1 1| 0,9995| 0,9948 | 0,9647| 0,8329 | 0,4510
1 1 1| 0,9995| 0,9953| 0,9648 | 0,7941
1 1 1 1 1 1 1
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GO A

p
X 0,1 0,2 0,3 0,4 0,5 0,6 0,7 0,8 0,9
0 0,1216 | 0,0115| 0,0008 | 0,0000| 0,0000 | 0,0000| 0,0000| 0,0000| 0,0000
1 0,3917 | 0,0692 | 0,0076 | 0,0005| 0,0000| 0,0000| 0,0000 | 0,0000 | 0,0000
2 0,6769 | 0,2061 | 0,0355| 0,0036| 0,0002| 0,0000| 0,0000 | 0,0000 | 0,0000
3 0,8670 | 0,4114| 0,1071| 0,0160| 0,0013| 0,0000 | 0,0000 | 0,0000 | 0,0000
4 0,9568 | 0,6296 | 0,2375| 0,0510| 0,0059| 0,0003 | 0,0000 | 0,0000 | 0,0000
5 0,9887 | 0,8042 | 0,4164| 0,1256 | 0,0207| 0,0016 | 0,0000 | 0,0000 | 0,0000
6 0,9976 | 0,9133| 0,6080 | 0,2500| 0,0577| 0,0065| 0,0003 | 0,0000 | 0,0000
7 0,9996 | 0,9679 | 0,7723| 0,4159| 0,1316| 0,0210 | 0,0013 | 0,0000 | 0,0000
8 0,9999 | 0,9900| 0,8867| 0,5956 | 0,2517| 0,0565| 0,0051 | 0,0001| 0,0000
o I8 1| 0,9974| 0,9520| 0,7553| 0,4119| 0,1275| 0,0171] 0,0006 | 0,0000
‘ﬁ' 10 1| 0,9994| 0,9829| 0,8725| 0,5881 | 0,2447 | 0,0480| 0,0026 | 0,0000
= 11 1| 0,9999| 0,9949| 0,9435| 0,7483| 0,4044 | 0,1133] 0,0100| 0,0001
12 1 1| 0,9987| 0,9790| 0,8684| 0,5841 | 0,2277| 0,0321| 0,0004
13 1 1| 0,9997| 0,9935| 0,9423| 0,7500| 0,3920 | 0,0867 | 0,0024
14 1 1 1| 0,9984| 0,9793| 0,8744| 0,5836 | 0,1958 | 0,0113
15 1 1 1| 0,9997| 0,9941| 0,9490| 0,7625| 0,3704 | 0,0432
16 1 1 1 1| 0,9987| 0,9840| 0,8929 | 0,5886 | 0,1330
17 1 1 1 1| 0,9998 | 0,9964 | 0,9645| 0,7939 | 0,3231
18 1 1 1 1 1| 0,9995| 0,9924| 0,9308 | 0,6083
19 1 1 1 1 1 1| 09992 | 0,9885| 0,8784
20 1 1 1 1 1 1 1 1 1
0 0,0424 | 0,0012 | 0,0000 | 0,0000| 0,0000| 0,0000| 0,0000 | 0,0000| 0,0000
1 0,1837 | 0,0105| 0,0003 | 0,0000| 0,0000| 0,0000| 0,0000 | 0,0000 | 0,0000
2 0,4114 | 0,0442 | 0,0021 | 0,0000| 0,0000| 0,0000 | 0,0000 | 0,0000 | 0,0000
3 0,6474 | 0,1227 | 0,0093 | 0,0003| 0,0000| 0,0000| 0,0000 | 0,0000| 0,0000
4 0,8245 | 0,2552 | 0,0302 | 0,0015| 0,0000| 0,0000 | 0,0000 | 0,0000 | 0,0000
5 0,9268 | 0,4275| 0,0766 | 0,0057| 0,0002| 0,0000 | 0,0000 | 0,0000 | 0,0000
8 6 0,9742 | 0,6070| 0,1595| 0,0172| 0,0007 | 0,0000 | 0,0000 | 0,0000 | 0,0000
g 7 0,9922 | 0,7608 | 0,2814 | 0,0435| 0,0026 | 0,0000 | 0,0000 | 0,0000 | 0,0000
8 0,9980 | 0,8713| 0,4315| 0,0940| 0,0081| 0,0002 | 0,0000 | 0,0000 | 0,0000
9 0,9995| 0,9389| 0,5888 | 0,1763| 0,0214| 0,0009 | 0,0000 | 0,0000 | 0,0000
10 0,9999 | 0,9744 | 0,7304 | 0,2915| 0,0494 | 0,0029 | 0,0000 | 0,0000| 0,0000
11 1| 0,9905| 0,8407| 0,4311| 0,1002| 0,0083 | 0,0002| 0,0000| 0,0000
12 1| 09969 | 0,9155| 0,5785| 0,1808 | 0,0212 | 0,0006 | 0,0000| 0,0000
13 1] 09991 | 09599 | 0,7145| 0,2923 | 0,0481 | 0,0021 | 0,0000 | 0,0000

p
X 0,1 0,2 0,3 0,4 0,5 0,6 0,7 0,8 0,9
14 1| 09998 | 09831 | 0,8246| 0,4278| 0,0971 | 0,0064 | 0,0001 | 0,0000
15 1] 09999 | 09936 | 09029 | 0,5722| 0,1754| 0,0169| 0,0002 | 0,0000
16 1 1| 09979 | 09519 | 0,7077| 0,2855| 0,0401| 0,0009 | 0,0000
17 1 1| 09994 | 09788 | 0,8192| 0,4215| 0,0845| 0,0031| 0,0000
18 1 1| 09998 | 09917 | 0,8998 | 0,5689 | 0,1593| 0,0095| 0,0000
8 19 1 1 1| 0,9971| 0,9506 | 0,7085 | 0,2696 | 0,0256 | 0,0001
g 20 1 1 1| 09991 | 09786 | 0,8237 | 0,4112| 0,0611| 0,0005
21 1 1 1| 0,9998 | 0,9919| 0,9060 | 0,5685| 0,1287 | 0,0020
22 1 1 1 1| 0,9974| 0,9565| 0,7186| 0,2392| 0,0078
23 1 1 1 1| 0,9993| 0,9828 | 0,8405| 0,3930| 0,0258
24 1 1 1 1| 0,9998 | 0,9943 | 0,9234| 0,5725| 0,0732
25 1 1 1 1 1| 0,9985| 0,9698 | 0,7448 | 0,1755
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26 1 1 1 1 1| 09997 | 0,9907| 0,8773| 0,3526
27 1 1 1 1 1 1] 0,9979| 0,9558 | 0,5886
28 1 1 1 1 1 1] 0,9997| 0,9895| 0,8163
29 1 1 1 1 1 1 1| 0,9988 | 0,9576
30 1 1 1 1 1 1 1 1 1
0 0,0148 | 0,0001 | 0,0000 | 0,0000| 0,0000| 0,0000| 0,0000 | 0,0000 | 0,0000
1 0,0805 | 0,0015| 0,0000| 0,0000| 0,0000| 0,0000| 0,0000 | 0,0000 | 0,0000
2 0,2228 | 0,0079 | 0,0001 | 0,0000| 0,0000| 0,0000| 0,0000 | 0,0000 | 0,0000
3 0,4231 | 0,0285| 0,0006 | 0,0000| 0,0000| 0,0000| 0,0000 | 0,0000 | 0,0000
4 0,6290 | 0,0759 | 0,0026 | 0,0000| 0,0000| 0,0000| 0,0000 | 0,0000 | 0,0000
5 0,7937| 0,1613 | 0,0086| 0,0001| 0,0000| 0,0000 | 0,0000 | 0,0000 | 0,0000
6 0,9005 | 0,2859 | 0,0238 | 0,0006| 0,0000| 0,0000| 0,0000 | 0,0000 | 0,0000
7 0,9581 | 0,4371| 0,0553 | 0,0021| 0,0000| 0,0000| 0,0000 | 0,0000 | 0,0000
S 8 0,9845| 0,5931| 0,1110| 0,0061| 0,0001| 0,0000 | 0,0000 | 0,0000 | 0,0000
g 9 0,9949 | 0,7318 | 0,1959 | 0,0156 | 0,0003 | 0,0000 | 0,0000 | 0,0000 | 0,0000
10 0,9985| 0,8392 | 0,3087| 0,0352| 0,0011| 0,0000| 0,0000 | 0,0000 | 0,0000
11 0,9996 | 0,9125| 0,4406 | 0,0709| 0,0032| 0,0000 | 0,0000 | 0,0000| 0,0000
12 0,9999 | 0,9568 | 0,5772| 0,1285| 0,0083 | 0,0001 | 0,0000 | 0,0000 | 0,0000
13 1| 0,9806| 0,7032| 0,2112| 0,0192 | 0,0004 | 0,0000| 0,0000 | 0,0000
14 1| 0,9921| 0,8074] 0,3174| 0,0403 | 0,0012 | 0,0000| 0,0000| 0,0000
15 1| 0,9971| 0,8849 | 0,4402| 0,0769 | 0,0034 | 0,0000 | 0,0000| 0,0000
16 1| 0,9990| 0,9367| 0,5681| 0,1341| 0,0083 | 0,0001 | 0,0000| 0,0000
17 1| 0,9997| 0,9680| 0,6885| 0,2148 | 0,0189 | 0,0003 | 0,0000 | 0,0000
p
X 0,1 0,2 0,3 0,4 0,5 0,6 0,7 0,8 0,9
18 1| 0,9999| 0,9852| 0,7911| 0,3179| 0,0392 | 0,0009 | 0,0000| 0,0000
19 1 1| 09937 | 0,8702| 0,4373| 0,0744 | 0,0024 | 0,0000| 0,0000
20 1 1| 0,9976| 0,9256 | 0,5627| 0,1298 | 0,0063 | 0,0000 | 0,0000
21 1 1| 0,9991| 0,9608 | 0,6821| 0,2089 | 0,0148 | 0,0001| 0,0000
22 1 1| 09997 | 0,9811| 0,7852| 0,3115| 0,0320 | 0,0003 | 0,0000
23 1 1| 09999 | 0,9917| 0,8659| 0,4319 | 0,0633 | 0,0010| 0,0000
24 1 1 1| 0,9966| 0,9231| 0,5598 | 0,1151 | 0,0029 | 0,0000
25 1 1 1| 09988 | 0,9597| 0,6826 | 0,1926 | 0,0079| 0,0000
26 1 1 1| 0,9996| 0,9808 | 0,7888 | 0,2968 | 0,0194| 0,0000
o 127 1 1 1| 09999 | 09917 | 0,8715| 0,4228 | 0,0432| 0,0001
Tf 28 1 1 1 1| 0,9968 | 0,9291 | 0,5594 | 0,0875| 0,0004
= 29 1 1 1 1| 0,9989| 0,9648 | 0,6913| 0,1608 | 0,0015
30 1 1 1 1| 0,9997| 0,9844 | 0,8041| 0,2682| 0,0051
31 1 1 1 1| 0,9999| 0,9939 | 0,8890| 0,4069 | 0,0155
32 1 1 1 1 1| 09979 | 0,9447| 0,5629 | 0,0419
33 1 1 1 1 1| 09994 | 09762 | 0,7141| 0,0995
34 1 1 1 1 1| 09999 | 0,9914| 0,8387| 0,2063
35 1 1 1 1 1 1] 0,9974| 0,9241| 0,3710
36 1 1 1 1 1 1] 0,9994| 0,9715| 0,5769
37 1 1 1 1 1 1] 0,9999| 0,9921| 0,7772
38 1 1 1 1 1 1 1| 0,9985| 0,9195
39 1 1 1 1 1 1 1| 0,9999 | 0,9852
40 1 1 1 1 1 1 1 1 1
[ 1o ]




F(x)=P(X <x)=>e™

GO A

Ogwles Ol ddlazl) Jj\.G,-\ 2 ‘.3) ‘5"1&\

k

/|1< ROV HE R ARUPIFPUR
!

k<x
A
X 0,5 1 1,5 2 2,5 3 3,5 4 4,5 5
0f 0,6065| 0,3679| 0,2231| 0,1353 | 0,0821 | 0,0498 | 0,0302 | 0,0183 | 0,0111 | 0,0067
1] 09098 | 0,7358 | 0,5578 | 0,4060| 0,2873 | 0,1991 | 0,1359| 0,0916| 0,0611 | 0,0404
2] 09856 | 0,9197| 0,8088 | 0,6767 | 05438 | 0,4232| 0,3208 | 0,2381 | 0,1736 | 0,1247
3] 09982 | 09810 | 0,9344| 0,8571 | 0,7576 | 0,6472| 0,5366 | 0,4335| 0,3423 | 0,2650
4| 0,9998| 0,9963| 0,9814 | 0,9473 | 0,8912 | 0,8153 | 0,7254| 0,6288 | 0,5321 | 0,4405
5 1| 0,9994| 0,9955| 0,9834| 0,9580 | 0,9161 | 0,8576| 0,7851| 0,7029 | 0,6160
6 1] 0,9999| 09991 | 0,9955| 0,9858 | 0,9665| 0,9347| 0,8893 | 0,8311 | 0,7622
7 1 0,9998 | 0,9989 | 0,9958 | 0,9881 | 0,9733| 0,9489 | 0,9134 | 0,8666
8 1 1 1] 0,9998 | 0,9989 | 0,9962 | 0,9901| 0,9786 | 0,9597 | 0,9319
9 1 1 1 1] 0,9997 | 0,9989 | 0,9967 | 0,9919 | 0,9829 | 0,9682
10 1 1 1 1] 0,9999 | 0,9997 | 0,9990| 0,9972| 0,9933 | 0,9863
11 1 1 1 1 1] 0,9999 | 0,9997| 0,9991| 0,9976 | 0,9945
12 1 1 1 1 1 1] 0,9999| 0,9997| 0,9992 | 0,9980
13 1 1 1 1 1 1 1] 09999 | 0,9997 | 0,9993
14 1 1 1 1 1 1 1 1] 0,9999 | 0,9998
15 1 1 1 1 1 1 1 1 1| 0,9999
16 1 1 1 1 1 1 1 1 1 1
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0,0041

0,0025

0,0015

0,0009

0,0006

0,0003
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0,0001

0,0001

0,0000

0,0266

0,0174

0,0113

0,0073

0,0047

0,0030

0,0019

0,0012

0,0008

0,0005

0,0884

0,0620

0,0430

0,0296

0,0203

0,0138

0,0093

0,0062

0,0042

0,0028

0,2017

0,1512

0,1118

0,0818

0,0591

0,0424

0,0301

0,0212

0,0149

0,0103

0,3575

0,2851

0,2237

0,1730

0,1321

0,0996

0,0744

0,0550

0,0403

0,0293

0,5289

0,4457

0,3690

0,3007

0,2414

0,1912

0,1496

0,1157

0,0885

0,0671

0,6860

0,6063

0,5265

0,4497

0,3782
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0,2562

0,2068

0,1649
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0,2687
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0,4557
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0,9332
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F(z)=P(Z<z) —e_EZ dz

z 0,00 0,01 0,02 0,03 0,04 0,05 0,06 0,07 0,08 0,09
0,0 | 0,5000| 0,5040 | 0,5080 | 0,5120 | 0,5160 | 0,5199 | 0,5239 | 0,5279 | 0,5319 | 0,5359
0,1 |0,5398| 0,5438 | 0,5478 | 0,5517 | 0,5557 | 0,5596 | 0,5636 | 0,5675 | 0,5714 | 0,5753
0,2 |10,5793| 0,5832 | 0,5871 | 0,5910 | 0,5948 | 0,5987 | 0,6026 | 0,6064 | 0,6103 | 0,6141
0,3 |10,6179| 0,6217 | 0,6255 | 0,6293 | 0,6331 | 0,6368 | 0,6406 | 0,6443 | 0,6480 | 0,6517
0,4 |0,6554| 0,6591 | 0,6628 | 0,6664 | 0,6700 | 0,6736 | 0,6772 | 0,6808 | 0,6844 | 0,6879
0,5 |10,6915| 0,6950 | 0,6985 | 0,7019 | 0,7054 | 0,7088 | 0,7123 | 0,7157 | 0,7190 | 0,7224
0,6 |0,7257| 0,7291 | 0,7324 | 0,7357 | 0,7389 | 0,7422 | 0,7454 | 0,7486 | 0,7517 | 0,7549
0,7 10,7580 | 0,7611 | O0,7642 | 0,7673 | 0,7704 | 0,7734 | 0,7764 | 0,7794 | 0,7823 | 0,7852
0,8 10,7881 | 0,7910 | 0,7939 | 0,7967 | 0,7995 | 0,8023 | 0,8051 | 0,8078 | 0,8106 | 0,8133
0,9 10,8159]| 0,8186 | 0,8212 | 0,8238 | 0,8264 | 0,8289 | 0,8315 | 0,8340 | 0,8365 | 0,8389
1,0 [0,8413| 0,8438 | 0,8461 | 0,8485 | 0,8508 | 0,8531 | 0,8554 | 0,8577 | 0,8599 | 0,8621
1,1 |0,8643| 0,8665 | 0,8686 | 0,8708 | 0,8729 | 0,8749 | 0,8770 | 0,8790 | 0,8810 | 0,8830
1,2 [0,8849| 0,8869 | 0,8888 | 0,8907 | 0,8925 | 0,8944 | 0,8962 | 0,8980 | 0,8997 | 0,9015
1,3 [ 0,9032| 0,9049 | 0,9066 | 0,9082 | 0,9099 | 0,9115 | 0,9131 | 0,9147 | 0,9162 | 0,9177
1,4 109192 | 0,9207 | 0,9222 | 0,9236 | 0,9251 | 0,9265 | 0,9279 | 0,9292 | 0,9306 | 0,9319
1,5 [0,9332| 0,9345 | 0,9357 | 0,9370 | 0,9382 | 0,9394 | 0,9406 | 0,9418 | 0,9429 | 0,9441
1,6 [09452| 0,9463 | 0,9474 | 0,9484 | 0,9495 | 0,9505 | 0,9515 | 0,9525 | 0,9535 | 0,9545
1,7 10,9554 | 0,9564 | 0,9573 | 0,9582 | 0,9591 | 0,9599 | 0,9608 | 0,9616 | 0,9625 | 0,9633
1,8 {09641 | 0,9649 | 0,9656 | 0,9664 | 0,9671 | 0,9678 | 0,9686 | 0,9693 | 0,9699 | 0,9706
19 [09713]| 0,9719 | 0,9726 | 0,9732 | 0,9738 | 0,9744 | 0,9750 | 0,9756 | 0,9761 | 0,9767
2,0 |09772| 0,9778 | 0,9783 | 0,9788 | 0,9793 | 0,9798 | 0,9803 | 0,9808 | 0,9812 | 0,9817
2,1 10,9821 0,9826 | 0,9830 | 0,9834 | 0,9838 | 0,9842 | 0,9846 | 0,9850 | 0,9854 | 0,9857
2,2 10,9861 | 0,9864 | 0,9868 | 0,9871 | 0,9875 | 0,9878 | 0,9881 | 0,9884 | 0,9887 | 0,9890
2,3 10,9893 | 0,9896 | 0,9898 | 0,9901 | 0,9904 | 0,9906 | 0,9909 | 0,9911 | 0,9913 | 0,9916
2,4 10,9918 | 0,9920 | 0,9922 | 0,9925 | 0,9927 | 0,9929 | 0,9931 | 0,9932 | 0,9934 | 0,9936
2,5 10,9938 0,9940 | 0,9941 | 0,9943 | 0,9945 | 0,9946 | 0,9948 | 0,9949 | 0,9951 | 0,9952
2,6 |0,9953| 0,9955 | 0,9956 | 0,9957 | 0,9959 | 0,9960 | 0,9961 | 0,9962 | 0,9963 | 0,9964
2,7 10,9965| 0,9966 | 0,9967 | 0,9968 | 0,9969 | 0,9970 | 0,9971 | 0,9972 | 0,9973 | 0,9974
2,8 10,9974 | 0,9975 | 0,9976 | 0,9977 | 0,9977 | 0,9978 | 0,9979 | 0,9979 | 0,9980 | 0,9981
2,9 10,9981 | 0,9982 | 0,9982 | 0,9983 | 0,9984 | 0,9984 | 0,9985 | 0,9985 | 0,9986 | 0,9986

78Sl A Jal e sl Al 0

z 3,0 31 3,2 3.3 34 3.5 3,6 3,8 4,0 4,5

F(z) ]0,99865 | 0,999032 | 0,999313 | 0,999517 | 0,999663 | 0,999767 | 0,999841 | 0,999928 | 0,999968 | 0,999997
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p=F(z) :&w> psl2a p Joi oy ddlisl 7 o3

p (0,000|0,001|0,002|0,003|0,004|0,005|0,006|0,007|0,008|0,009|0,010

0,00 | = |3,09022,8782_2,74782,6521]2,57582,51212,457312,4089]2,36562,3263| 0,99

0,01 |2,32632,2904)2,257112,2262]2,19732,17012,14442,1201]2,09692,07492,0537| 0,98

0,02 |2,0537)2,03352,0141]1,9954]1,9774]1,9600/1,9431]1,92681,9110/1,8957)1,8808| 0,97

0,03 |1,88081,8663/1,8522/1,83841,8250/1,8119/1,7991]1,7866|1,7744/1,76241,7507| 0,96

0,04 |1,7507|1,73921,72791,71691,7060/1,6954]1,68491,67471,6646/1,6546/1,6449 0,95

0,05 |1,64491,6352)1,6258/1,61641,6072/1,5982/1,5893/1,5805/1,5718]1,5632/1,5548| 0,94

0,06 |1,55481,5464/1,5382/1,5301]1,5220/1,5141]1,5063[1,4985/1,49091,4833]1,4758| 0,93

0,07 |1,47581,4684/1,46111,4538]1,4466/1,4395/1,4325/1,42551,4187|1,41181,4051] 0,92

0,08 |1,4051]1,3984/1,3917|1,38521,3787|1,3722/1,3658/1,3595/1,35321,34691,3408| 0,91

0,09 |1,3408]1,3346/1,3285/1,3225]1,3165/1,3106/1,3047[1,29881,2930/1,2873]1,2816| 0,90

0,10 |1,2816/1,27591,27021,2646/1,2591]1,2536(1,2481]1,2426/1,2372/1,23191,2265| 0,89

0,11 |1,22651,22121,21601,2107]1,2055/1,2004/1,19521,1901(1,18501,18001,1750| 0,88

0,12 |1,17501,17001,16501,1601]1,1552]1,1503]1,14551,14071,1359/1,1311]1,1264] 0,87

0,13 |1,1264/1,12171,117011,11231,1077/1,1031j1,0985[1,093911,0893/1,08481,0803| 0,86

0,14 |1,08031,0758/1,0714(1,06691,0625/1,0581/1,0537[1,04941,0450/1,0407/1,0364| 0,85

0,15 |1,0364/1,0322/1,027911,0237]1,0194/1,0152]1,01101,00691,0027|0,9986/0,9945| 0,84

0,16 |0,99450,9904/0,98630,9822/0,97820,9741/0,9701/0,9661/0,9621]0,9581/0,9542| 0,83

0,17 |0,95420,95020,94630,94240,9385(0,9346/0,9307|0,92690,9230/0,91920,9154] 0,82

0,18 |0,91540,9116/0,9078/0,90400,90020,8965/0,8927|0,889000,8853/0,8816/0,8779| 0,81

0,19 |0,87790,87420,8705)0,86690,8633/0,8596/0,85600,8524/0,84880,84520,8416| 0,80

0,20 |0,84160,8381/0,83450,83100,82740,82390,82040,81690,8134/0,80990,8064| 0,79

0,21 |0,8064/0,80300,79950,7961/0,7926/0,78920,78580,7824(0,77900,775600,7722| 0,78

0,22 |0,77220,76880,76550,7621/0,75880,75540,75210,7488/0,7454/0,7421/0,7388| 0,77

0,23 |0,73880,7356/0,73230,72900,72570,72250,71920,71600,71280,70950,7063| 0,76

0,24 |0,70630,7031j0,69990,6967|0,69350,69030,68710,684000,68080,6776/0,6745| 0,75

0,25 |0,67450,67130,66820,6651/0,66200,6588/0,6557|0,6526/0,64950,6464/0,6433 0,74

0,26 |0,64330,64030,63720,6341/0,63110,62800,62500,62190,61890,61580,6128| 0,73

0,27 |0,61280,60980,60680,6038/0,60080,5978/0,59480,5918/0,5888/0,58580,5828| 0,72

0,28 |0,58280,57990,57690,57400,57100,5681/0,5651/0,5622/0,5592/0,55630,5534| 0,71

0,29 |0,55340,55050,5476/0,5446/0,5417|0,5388/0,53590,5330[0,53020,5273/0,5244 0,70

0,30 |0,52440,52150,5187/0,51580,51290,5101/0,5072/0,5044/0,5015/0,4987]0,4959 0,69

0,31 |0,49590,49300,49020,4874/0,48450,48170,47890,4761/0,4733/0,47050,4677| 0,68

0,32 |0,46770,46490,4621/0,4593/0,45650,4538/0,451000,4482/0,4454/0,44270,4399| 0,67

0,33 |0,43990,43720,43440,4316/0,42890,4261/0,4234/0,42070,41790,41520,4125| 0,66

0,34 |0,41250,4097/0,4070)0,4043/0,4016/0,39890,3961]0,3934/0,3907|0,38800,3853| 0,65

0,35 |0,38530,3826/0,37990,37720,3745/0,37190,36920,3665/0,3638/0,3611/0,3585| 0,64

0,36 |0,35850,3558/0,3531/0,3505/0,34780,3451/0,3425)0,3398/0,3372/0,33450,3319| 0,63

0,37 |0,33190,32920,3266/0,32390,32130,3186/0,3160)0,3134/0,3107|0,3081/0,3055| 0,62

0,38 |0,30550,30290,30020,2976/0,29500,2924(0,28980,2871/0,2845)0,28190,2793| 0,61

0,39 |0,27930,2767)0,2741/0,27150,26890,2663/0,2637|0,2611)0,2585/0,25590,2533] 0,60

0,40 |0,25330,2508/0,2482)0,2456/0,2430)0,2404/0,23780,2353/0,2327|0,2301/0,2275| 0,59

0,41 |0,22750,22500,22240,2198/0,21730,21470,2121]0,2096/0,2070/0,20450,2019| 0,58

0,42 |0,20190,19930,19680,19420,1917/0,1891/0,1866/0,18400,1815/0,17890,1764| 0,57

0,43 |0,17640,17380,17130,1687/0,16620,1637|0,16110,1586/0,1560/0,15350,1510] 0,56

0,44 |0,15100,1484)0,14590,1434/0,14080,1383/0,13580,13320,1307|0,12820,1257| 0,55

0,45 |0,12570,1231)0,1206/0,1181/0,1156/0,11300,1105/0,1080[0,1055/0,10300,1004, 0,54

0,46 |0,10040,09790,0954/0,09290,0904/0,0878/0,08530,0828/0,0803/0,07780,0753| 0,53

0,47 |0,07530,07280,07020,0677|0,06520,0627|0,0602)0,0577|0,0552/0,05270,0502| 0,52

0,48 |0,05020,0476/0,0451)0,0426/0,0401)0,0376/0,0351]0,0326/0,0301)0,0276/0,0251| 0,51

0,49 |0,0251)0,0226/0,0201/0,0175/0,0150/0,0125/0,0100/0,0075/0,00500,00250,0000] 0,50

0,010|0,009| 0,008 0,007 | 0,006 | 0,005 0,004 | 0,003 (0,002 |0,001|0,000| p
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